IFEES FER ISAF)

SYR—bF IFv VY IMER] EEx: £ H &
Today’s Question SHD 1 /) % HI

L SAIE, 2T 1 8em, N
2 7T emDEFTHDOELM T KNS, 1 A —
MEemDEFF%Z 1 5@ T ) %cm

RLIYNWTELZYIZQfTx, 2D
EHEZROLIIZHEAL WET, £
FLIXADHAOPIZEELR., DIC

RZ2EF, 1AM EHFELZ 15
BN YN TELEBEDOHA LT
RIEEL x I,

18cm

“5om”

//é%@ﬁ@%§u27mfioEﬁ%@1ﬂw5m;\
DT, 27+5=56h% 2020, EFHILIMICEME

MWL ZeNTEET,

Q’s‘“o

BHOLTORSIIEI 8am T, EFFD 1 AH5cem

Lot @ . M
ZHOZens, BRRIZIANEmDEFHZ WL D) e 2
(ZunTsamnefosRid, ( @ ) 128)ET, -

o, 1@ANSmDEFHZ 1 5ENC ZLNTE rIFLSA




@ #Fl:18+5=3HFH3I1cW) EFBIELETUIEHNL I LT
S
@ 3X5=15(5X3=15) x%T=15] FENHLTLEE

2T R A

BN >TNEDS, ECT. MEEBNZEONESRL. ©>5—0.

E2 BERENTOS THLS,




